8. If the line normal to the graph of f at the point (1, 2) passes through the
point (-1, 1), then which of the following gives the value of £'(1)?

@ 2 b)) 2 ¢ -2 d 12 e 3
/%“1“

-\ ¢
m = - - M= & 7
Nn l__e,ﬁ Z [
2970
9. 1im_’s'mx_°= I es S inx
x—Z 8in” x +cos” x o -%’

®©
Sl &= TSI

d)

¢) The limit does not exist

10. A particle moves along a straight line with equation s(t)=¢’—¢* of motion,
Find the value of ¢ at which the acceleration is zero.

9 % v Ko %O Koo 4
V=3L-2¢
o= eE-2 =2




11.

y
2
1
%) | 2’;X
N Az
< =TT
- \027’ ;'L =P

The figure above shows the graph of a sine function for one complete period. Which of the
following is an equation for the graph?

(A) y=2$i11(-12£xJ W ¥ =sin(nx) (©) y=2sin(2x)

y=2sin(nx) & »=sin(2x)

12, Let f(x)=x—-%. Find /”(x).

1 -2
Q) L+ Sly= 1+ X
i
SR b = 253
c) %

e) Does not exist
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1.  Solve exactly for x €[0°, 180°): sin®2x—2sinxcosx=2

&' N'LZK‘“ S (N—Z_,\C —) =
Cﬂsm&x —z) (—s.,fbﬂu \\

5/“\"2\:"2 5/’427&2"
Vo Socvne e = '%_ 25,1004;35«9;)

W= (38 #+180n

\%éfl?ﬁf



b)

The position of a particle is described by x(t) =13 —4t>+5t-20.:

When is the particle at rest? \/é.f = 3{,1'- N

C%é.,() (& ~T) =D

621/;(5"

When is the particle moving right?
V 10 _ o 4+

& \ —7

£ /3 \Y
te& C’d’\ \/%] U Y,S‘ Og)

What is the acceleration at =47 ~a C—ﬁ ) = LE-E

al[f): | &



3. Givenf (x) = —-%x“ —9x3 +4x? +8x—3, use your graphing calculator to:

a)  Sketch a complete graph. State the window used.

ce [oo15]
3 s E' tee, %p]

——

b) Find the zeros. (._ 19‘584' D)
(-a35,2)

(‘ BL%( o)
(.45%,0)

c) Find all the extreme poinis. ( /XA l .—5(002/>
(.0, 1.354)
(vl%e}(,‘? blé:.l,‘f72,>
/



6. A spaceship is in an elliptical orbit around Earth. At time ¢ = 0, it is at its apogee
(highest point) which is d = 2000 km. It reaches its perigee (lowest point) of

d= 300km 30 minutes later.

(a) Assuming distance d varies sinusoidally with time ¢, sketch a graph of one

cycle o A
2D
2006 4
Y 26

(b)  Find an equation for your sketch.

(}% e 4= /1SD 4 3SO Oas(%.&]

(c) If the ship is only in communication range when it is below 500 km, for how
many minutes is the ship out of range (during its primary cycle)?

S0 = 115b +&50ass(ES &)

— 15 ?—c.asa%{—,

+ 4y -
f.eHkd Th = =5 6
4722.3134 ton =+

OOT o RoNeE (va U 6. 227w, wUTES



y y

S A farmer has 10,000-square-foot field which has been subdivided into two
equal pens and one of those pens has been further subdivided into two equal fields
as shown above. He wants to minimize the amount of fencing to enclose the pens.

a)  State the equation needed to minimize the amount of fencing to be used.
F - é 3 -+ S
b)  State the secondary equation needed to eliminate the extra variable.
2 (’ZO\ =(00cO —> )q:] > 2820
¢)  Eliminate the extra variable in the equation needed to minimize the amount
of fencing.

2502

FoG(ZF) «$=

d)  Use your calculator to find the minimum amount of fencing needed to enclse

he field.
the fic X= ¢S (18 —» F= 552.976"
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6. Find an inequality that has this sign pattern and solution:

Y /:/\q fayoko+ol | 1
% B Lé_/_iy ? and xe(—oo,‘—S]u{—2}u|:E,13j|

- (eS) (e42Y (2 - G2 Y (x-3) 20

7 Prove cotA+tanA=2csc2A

CosA StvA 2

S /A CoSA SINZA

C@SzA + S thA 2
S

—_—

f
S“'N'@C/OS“A \\ ZS\(;NA COSA
=

=




8. Let f(x)=11x"—19% +15x+ 7+ %% +—. Find f(x).
X

( 8 ,_'g'
£(o- 29 *mgﬂgf%x%’,g@gq

9. Evaluate the following limits:

) it (3 )
=3 Jx+9)( 3 +Ferd)

Sl 2w Bt ) o ()

I —
X o

q = (\C"Q} Do
- |2
b 5 B+2t =0
) W
; LT 2 +2) 2
ZL(/") /é’(é o~ — —_— ZJA/E

€70 ez O



